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2. (16 points) Graph the solution set to the following system of inequalities. Algebraically find the
vertices of the system and label them on your graph.

{y>3|x 2| -1 ' /

—xt+y=<1 ”/

3. (8 points) Graph f(x) = (l)x —4 on the axes prov:ded below Label all intercepts and

asymptotes. Jg}*‘ - g’ s L } { = J’ 2w:wwa_fff@,,
U3 ‘ | 7 o

Seartoesn

AR \
Ly




4. (16 points) Solve each system of equations. Express your answers as ordered pairs.
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5. (16 points) Evaluate each of the following expressions:
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6. (20 points) Solve each of the following equations for x.
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